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CO-ORDINATE GEOMETRY

Exercise 26 A

1. For each equation given below, name the

dependent and independent variables. 

y = x − 7
4
3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_htKTTjNgHKJI


Watch Video Solution

2. For each equation given below, name the

dependent and independent variables. 

Watch Video Solution

x = 9y + 4

3. For each equation given below, name the

dependent and independent variables. 

Watch Video Solution

x =
5y + 3

2

https://dl.doubtnut.com/l/_htKTTjNgHKJI
https://dl.doubtnut.com/l/_mHIP6FPZPyZ9
https://dl.doubtnut.com/l/_TEZwY6amElLI


4. For each equation given below, name the

dependent and independent variables. 

Watch Video Solution

y = (6x + 5)
1

7

5. Plot the following points on the same graph

paper: 

(8,7)

Watch Video Solution

https://dl.doubtnut.com/l/_TEZwY6amElLI
https://dl.doubtnut.com/l/_0Cn57sccVixN
https://dl.doubtnut.com/l/_1hAJQQfp1WIi


6. Plot the following points on the same graph

paper: 

(3,6)

Watch Video Solution

7. Plot the following points on the same graph

paper: 

(0,4)

Watch Video Solution

https://dl.doubtnut.com/l/_1hAJQQfp1WIi
https://dl.doubtnut.com/l/_Dfb7S7Ixg3p9
https://dl.doubtnut.com/l/_cyb9Nh1YjTHa


8. Plot the following points on the same graph

paper: 

(0,-4)

Watch Video Solution

9. Plot the following points on the same graph

paper: 

(3,-2)

Watch Video Solution

https://dl.doubtnut.com/l/_CjC9K0MZLtK0
https://dl.doubtnut.com/l/_IE4slElR8nWf
https://dl.doubtnut.com/l/_iaHcScCDjCs6


10. Plot the following points on the same graph

paper: 

(-2,5)

Watch Video Solution

11. Plot the following points on the same graph

paper: 

(-3,0)

Watch Video Solution

https://dl.doubtnut.com/l/_iaHcScCDjCs6
https://dl.doubtnut.com/l/_BNZGpNosbcMs


12. Plot the following points on the same graph

paper: 

(5,0)

Watch Video Solution

13. Plot the following points on the same graph

paper: 

(-4,-3)

Watch Video Solution

https://dl.doubtnut.com/l/_olHBulWu2gZP
https://dl.doubtnut.com/l/_NktUZwY0AGlc
https://dl.doubtnut.com/l/_eXjaBeKkXf2N


14. Find the values of x and y if: 

Watch Video Solution

(x − 1, y + 3) = (4, 4)

15. Find the values o x and y if: 

Watch Video Solution

(3x − 1, 2y − 7) = (9, − 9)

16. Find the values o x and y if: 

(5x − 3y, y − 3x) = (4, − 4)

https://dl.doubtnut.com/l/_eXjaBeKkXf2N
https://dl.doubtnut.com/l/_uDo1mWBkWyJ6
https://dl.doubtnut.com/l/_UpfACwjAmXgG


Watch Video Solution

17. Use the graph given alongside, to find the

co-ordinate of the point (s) satisfying the given

condition: 

the abscissa is 2.


Watch Video Solution

https://dl.doubtnut.com/l/_UpfACwjAmXgG
https://dl.doubtnut.com/l/_z6HOP3DNBqpT


18. Use the graph given alongside, to find the

co-ordinate of the point (s) satisfying the given

condition: 

the ordinate is 0.


Watch Video Solution

19. Use the graph given alongside, to find the

co-ordinate of the point (s) satisfying the given

https://dl.doubtnut.com/l/_EUVPNK0RPbuf
https://dl.doubtnut.com/l/_TgephGBuueGY


condition: 

the ordinate is 3.


Watch Video Solution

20. Use the graph given alongside, to find the

co-ordinate of the point (s) satisfying the given

condition: 

https://dl.doubtnut.com/l/_TgephGBuueGY
https://dl.doubtnut.com/l/_GaRkteZgruN1


the ordinate is -4. 

Watch Video Solution

21. Use the graph given alongside, to find the

co-ordinate of the point (s) satisfying the given

condition: 

https://dl.doubtnut.com/l/_GaRkteZgruN1
https://dl.doubtnut.com/l/_B8NXXBXwhwoM


the abscissa is 5.


Watch Video Solution

22. Use the graph given alongside, to find the

co-ordinate of the point (s) satisfying the given

condition: 

https://dl.doubtnut.com/l/_B8NXXBXwhwoM
https://dl.doubtnut.com/l/_WAz2l5oxX8Ct


the abscissa is equal to the ordinate.


Watch Video Solution

23. Use the graph given alongside, to find the

co-ordinate of the point (s) satisfying the given

condition: 

https://dl.doubtnut.com/l/_WAz2l5oxX8Ct
https://dl.doubtnut.com/l/_Lw4v1azJwD1o


the ordinate is half of the abscissa. 

Watch Video Solution

24. State, true or false: 

The ordinate of a point is its x-co- ordinate.

Watch Video Solution

https://dl.doubtnut.com/l/_Lw4v1azJwD1o
https://dl.doubtnut.com/l/_l0Z21EYoJSp8


25. State, true or false: 

The origin is in the first quadrant.

Watch Video Solution

26. State, true or false: 

The y-axis is the vertical number line.

Watch Video Solution

https://dl.doubtnut.com/l/_l0Z21EYoJSp8
https://dl.doubtnut.com/l/_t50vGehc6IQF
https://dl.doubtnut.com/l/_LysU2gEMBUOX


27. State, true or false: 

Every point is located in one of the four

quadrant.

Watch Video Solution

28. State, true or false: 

If the ordinate of a point is equal to its

abscissa, the point lies either in the first

quadrant or in the second quadrant.

Watch Video Solution

https://dl.doubtnut.com/l/_a1qA8cAiNZN8
https://dl.doubtnut.com/l/_Zkf3DnJwNNg9


29. State, true or false: 

The origin (0,0) lies on the x-axis.

Watch Video Solution

30. State, true or false: 

The point (a,b) lies on the y-axis if b=0.

Watch Video Solution

https://dl.doubtnut.com/l/_ojwLCUSatJ1O
https://dl.doubtnut.com/l/_zh53ka1qMura


31. In each of the following find the coordinates

of the point whose abscissa is the solution of

the first equation and ordinate is the solution

of the second equation: 

Watch Video Solution

3 − 2x = 7, 2y + 1 = 10 − 2 y
1

2

32. If each of the following find the co -

ordinates of the point whose abscissa is the

solution of the first equation and ordinate is

https://dl.doubtnut.com/l/_6t8TGI54Tfdn
https://dl.doubtnut.com/l/_eNkzyXlBEb7r


the solution of the second equation: 

Watch Video Solution

− 1 = , =
2a

3

a

2
15 − 4b

7

2b − 1

3

33. In each of the following find the coordinates

of the point whose abscissa is the solution of

the first equation and ordinate is the solution

of the second equation: 

Watch Video Solution

5x(5 − x) = (3 − x), 4 − 3y =
1
2

4 + y

3

https://dl.doubtnut.com/l/_eNkzyXlBEb7r
https://dl.doubtnut.com/l/_aJLyhmkDXhjf
https://dl.doubtnut.com/l/_7BFg1OkGjgG8


34. In each of the following the co-ordinates of

the three vertices of a rectangle ABCD are

given. By plotting the given points, find, in each

case, the co-ordinates of the fourth vertex: 

 and 

Watch Video Solution

A(2, 0), B(8, 0) C(8, 4)

35. In each of the following the co-ordinates of

the three vertices of a rectangle ABCD are

given. By plotting the given points, find, in each

https://dl.doubtnut.com/l/_7BFg1OkGjgG8
https://dl.doubtnut.com/l/_xQfM3MQpw0XH


case, the co-ordinates of the fourth vertex: 

A(4,2), B(-2,2) and D(4,-2)

Watch Video Solution

36. In each of the following the co-ordinates of

the three vertices of a rectangle ABCD are

given. By plotting the given points, find, in each

case, the co-ordinates of the fourth vertex: 

A(-4,-6),C(6,0) and D(-4,0)

Watch Video Solution

https://dl.doubtnut.com/l/_xQfM3MQpw0XH
https://dl.doubtnut.com/l/_nkO9EmEgrmHE
https://dl.doubtnut.com/l/_BDVjbarK3O2i


37. In each of the following the co-ordinates of

the three vertices of a rectangle ABCD are

given. By plotting the given points, find, in each

case, the co-ordinates of the fourth vertex: 

B(10,4),C(0,4) and D(0,-2)

Watch Video Solution

38. A (-2,2),B(8,2) and C(4,-4) are the vertices of a

parallelogram ABCD. By plotting the given

points on a graph paper, find the co-ordinates

of the fourth vertex D. 

https://dl.doubtnut.com/l/_BDVjbarK3O2i
https://dl.doubtnut.com/l/_biJlx3dGZv2h


Also from the same graph, state the co-

ordinates of the mid points of the sides AB and

CD.

Watch Video Solution

39. A(-2,4),C(4,10) and D(-2,10) are the vertices of

a square ABCD. Use the graphical method to

find the co-ordinates of the fouth vertex B. Find

: 

(i) the co-ordinates of the mid point of BC 

(ii) the co-ordinates of the mix point of CD and 

(iii) the co-ordinates of the point of

https://dl.doubtnut.com/l/_biJlx3dGZv2h
https://dl.doubtnut.com/l/_CcgZe6K2vkmN


intersection of the diagonals of the square

ABCD.

Watch Video Solution

40. By plotting the following points on the

same graph paper, check whether they are

collinear or not: 

(i) 


(ii)

Watch Video Solution

(3, 5), (1, 1) and (0, − 1)

( − 2, − 1), ( − 1, − 4) and ( − 4, 1)

https://dl.doubtnut.com/l/_CcgZe6K2vkmN
https://dl.doubtnut.com/l/_UhfyF1R2DZUx
https://dl.doubtnut.com/l/_6ghU89i4jNTe


41. Plot the points A (5,-7) from point A, draw

AW perpendicular to X axis and AN

perpendicular to y axis. Write the co-ordinates

of points M and N.

Watch Video Solution

42. In square ABCD, A=(3,4),B=(-2,4) and C=(-2,-1).

By plotting these point on a graph paper, find

the co-ordinates of vertex D. Also find the area

of the square.

Watch Video Solution

https://dl.doubtnut.com/l/_6ghU89i4jNTe
https://dl.doubtnut.com/l/_ru08fYiAgI9z


Exercise 26 B

43. In rectangle along x-axis and AB=8 units.

Find the co-ordinates of vertices A,B and C.

Watch Video Solution

1. Draw the graph for each linear equation

given below: 

Watch Video Solution

x = 3

https://dl.doubtnut.com/l/_ru08fYiAgI9z
https://dl.doubtnut.com/l/_zjazjHcOFBi7
https://dl.doubtnut.com/l/_B7vV5tevIO4N


Watch Video Solution

2. Draw the graph for each linear equation

given below: 

Watch Video Solution

x + 3 = 0

3. Draw the graph for each linear equation

given below: 

Watch Video Solution

x − 5 = 0

https://dl.doubtnut.com/l/_B7vV5tevIO4N
https://dl.doubtnut.com/l/_N1w9pjyOlRiE
https://dl.doubtnut.com/l/_XHuAA0uRxuXG


4. Draw the graph for each linear equation

given below: 

Watch Video Solution

2x − 7 = 0

5. Draw the graph for each linear equation

given below: 

Watch Video Solution

y = 4

https://dl.doubtnut.com/l/_XHuAA0uRxuXG
https://dl.doubtnut.com/l/_UyyLmQNQniAd
https://dl.doubtnut.com/l/_c2z9mLunE99c


6. Draw the graph for each linear equation

given below: 

Watch Video Solution

y + 6 = 0

7. Draw the graph for each linear equation

given below: 

Watch Video Solution

y − 2 = 0

https://dl.doubtnut.com/l/_p9CtsxeGvqZv
https://dl.doubtnut.com/l/_xBXE8SPwP2vF
https://dl.doubtnut.com/l/_GbqHuNeBvhuE


8. Draw the graph for each linear equation

given below: 

Watch Video Solution

3y + 5 = 0

9. Draw the graph for each linear equation

given below: 

Watch Video Solution

2y − 5 = 0

https://dl.doubtnut.com/l/_GbqHuNeBvhuE
https://dl.doubtnut.com/l/_IO7WLX7cjLJY


10. Draw the graph for each linear equation

given below: 

Watch Video Solution

y = 0

11. Draw the graph for each linear equation

given below: 

Watch Video Solution

x = 0

https://dl.doubtnut.com/l/_VtwXRF8wBQDh
https://dl.doubtnut.com/l/_rMZSvoS7D5hY
https://dl.doubtnut.com/l/_jdxwFt8BcM8P


12. Draw the graph for each linear equation

given below: 

Watch Video Solution

y = 3x

13. Draw the graph for each linear equation

given below: 

Watch Video Solution

y = − x

https://dl.doubtnut.com/l/_jdxwFt8BcM8P
https://dl.doubtnut.com/l/_qYa63HNPHi1i


14. Draw the graph for each linear equation

given below: 

Watch Video Solution

y = − 2x

15. Draw the graph for each linear equation

given below: 

Watch Video Solution

y = x

https://dl.doubtnut.com/l/_MMEhcnEQosQm
https://dl.doubtnut.com/l/_6A3RS189f27X
https://dl.doubtnut.com/l/_dOMCyzL9IHzl


16. Draw the graph for each linear equation

given below: 

Watch Video Solution

5x + y = 0

17. Draw the graph for each linear equation

given below: 

Watch Video Solution

x + 2y = 0

https://dl.doubtnut.com/l/_dOMCyzL9IHzl
https://dl.doubtnut.com/l/_a9cUomvYBjX6


18. Draw the graph for each linear equation

given below: 

Watch Video Solution

4x − y = 0

19. Draw the graph for each linear equation

given below: 

Watch Video Solution

3x + 2y = 0

https://dl.doubtnut.com/l/_ftSjqcssxt3v
https://dl.doubtnut.com/l/_xRyosJAAVsov
https://dl.doubtnut.com/l/_eLXnm2XiByzH


20. Draw the graph for each linear equation

given below: 

Watch Video Solution

x = − 2y

21. Draw the graph for each linear equation

given below: 

 


In each case find the co-ordinate of the points

where the graph (line) drawn meets the co-

ordinate axes.

y = 2x + 3

https://dl.doubtnut.com/l/_eLXnm2XiByzH
https://dl.doubtnut.com/l/_UZY4KI0P02DW


Watch Video Solution

22. Draw the graph for each linear equation

given below: 

 


In each case find the co-ordinate of the points

where the graph (line) drawn meets the co-

ordinate axes.

Watch Video Solution

y = x − 1
2

3

https://dl.doubtnut.com/l/_UZY4KI0P02DW
https://dl.doubtnut.com/l/_i3L1tIRqR9pT


23. Draw the graph for each linear equation

given below: 

 


In each case find the co-ordinate of the points

where the graph (line) drawn meets the co-

ordinate axes.

Watch Video Solution

y = − x + 4

24. Draw the graph for each linear equation

given below: 

 
y = 4x −
5

2

https://dl.doubtnut.com/l/_HcDJ0w1RfGHM
https://dl.doubtnut.com/l/_a5cv295up7aU


In each case find the co-ordinate of the points

where the graph (line) drawn meets the co-

ordinate axes.

Watch Video Solution

25. Draw the graph for each linear equation

given below: 

 


In each case find the co-ordinate of the points

where the graph (line) drawn meets the co-

ordinate axes.

W t h Vid S l ti

y = x +
3

2

2

3

https://dl.doubtnut.com/l/_a5cv295up7aU
https://dl.doubtnut.com/l/_72XcUoVQ21NZ


Watch Video Solution

26. Draw the graph for each linear equation

given below: 

 


In each case find the co-ordinate of the points

where the graph (line) drawn meets the co-

ordinate axes.

Watch Video Solution

2x − 3y = 4

https://dl.doubtnut.com/l/_72XcUoVQ21NZ
https://dl.doubtnut.com/l/_59Nc3akOEp5A


27. Draw the graph for each linear equation

given below: 

 


In each case find the co-ordinate of the points

where the graph (line) drawn meets the co-

ordinate axes.

Watch Video Solution

− = 0
x − 1

3

y + 2

2

28. Draw the graph for each linear equation

given below: 

 x − 3 = (y + 1)
2

5

https://dl.doubtnut.com/l/_ghffPlDCxBtB
https://dl.doubtnut.com/l/_cccfWAFcNPCK


In each case find the co-ordinate of the points

where the graph (line) drawn meets the co-

ordinate axes.

Watch Video Solution

29. Draw the graph for each linear equation

given below: 

 


In each case find the co-ordinate of the points

where the graph (line) drawn meets the co-

ordinate axes.

W t h Vid S l ti

x + 5y + 2 = 0

https://dl.doubtnut.com/l/_cccfWAFcNPCK
https://dl.doubtnut.com/l/_37V9uN18hUvC


Watch Video Solution

30. Draw the graph for each equation given

below: 

 


In each case find the co-ordinate of the points

where the graph (line) drawn meets the co-

ordinate axes.

Watch Video Solution

3x + 2y = 6

https://dl.doubtnut.com/l/_37V9uN18hUvC
https://dl.doubtnut.com/l/_hoAfLEa4dQCl


31. Draw the graph for each equation given

below: 

 


In each case find the co-ordinate of the points

where the graph (line) drawn meets the co-

ordinate axes.

Watch Video Solution

2x − 5y = 10

32. Draw the graph for each equation given

below: 

 
x + y = 5
1

2

2

3

https://dl.doubtnut.com/l/_Tj6GChpMxIWr
https://dl.doubtnut.com/l/_scWIj7SbFZBW


In each case find the co-ordinate of the points

where the graph (line) drawn meets the co-

ordinate axes.

Watch Video Solution

33. Draw the graph for each equation given

below: 

 


In each case find the co-ordinate of the points

where the graph (line) drawn meets the co-

ordinate axes.

W t h Vid S l ti

− = 0
2x − 1

3

y − 2

5

https://dl.doubtnut.com/l/_scWIj7SbFZBW
https://dl.doubtnut.com/l/_q4ewFpr0oEl5


Watch Video Solution

34. For each linear equation, given above, draw

the graph and then use the graph drawn (in

each case)to find the area of a triangle

enclosed by the graph and the co-ordinate

axes: 

(i) 

Watch Video Solution

3x − (5 − y) = 7

https://dl.doubtnut.com/l/_q4ewFpr0oEl5
https://dl.doubtnut.com/l/_58qM2jAzZhE5


35. For each linear equation, given above, draw

the graph and then use the graph drawn (in

each case)to find the area of a triangle

enclosed by the graph and the co-ordinate

axes: 

Watch Video Solution

7 − 3(1 − u) = 5 + 2x

36. For each pair of linear equations given

below, drawn graphs and then state, whether

the lines drawn are parallel or perpendicular to

https://dl.doubtnut.com/l/_YRMBES5fU0gI
https://dl.doubtnut.com/l/_heT6PkZef5x3


each other. 

 


Watch Video Solution

y = 3x − 1

y = 3x + 2

37. For each pair of linear equations given

below, drawn graphs and then state, whether

the lines drawn are parallel or perpendicular to

each other. 

 


W t h Vid S l ti

y = x − 3

y = − x + 5

https://dl.doubtnut.com/l/_heT6PkZef5x3
https://dl.doubtnut.com/l/_S0wDVd8rHYg0


Watch Video Solution

38. For each pair of linear equations given

below, drawn graphs and then state, whether

the lines drawn are parallel or perpendicular to

each other. 

 


Watch Video Solution

2x − 3y = 6

+ = 1
x

2

y

3

https://dl.doubtnut.com/l/_S0wDVd8rHYg0
https://dl.doubtnut.com/l/_Lm8NT0V5UDd4


39. For each pair of linear equations given

below, drawn graphs and then state, whether

the lines drawn are parallel or perpendicular to

each other. 

 


 


Watch Video Solution

2x − 3y = 6

3x + 4y = 24

+ = 1
x

4

y

3

40. On the same graph paper, plot the graph fo

 and  from y = x − 2, y = 2x + 1 y = 4

https://dl.doubtnut.com/l/_Ssts0GT1ibeG
https://dl.doubtnut.com/l/_PE7LrawRPUo6


 to 3.

Watch Video Solution

x = − 4

41. On the same graph paper, plot the graphs of

 from x=-2

to x=4 Are the graph (lines) drawn parallel to

each other?

Watch Video Solution

y = 2x − 1, y = 2x and y = 2x + 1

https://dl.doubtnut.com/l/_PE7LrawRPUo6
https://dl.doubtnut.com/l/_qZvaN5bfoHvm


42. The graph of  meets the x= axis

at point P and the y-axis at point Q. Use the

graphical method to find the co-ordinate of

points P and Q.

Watch Video Solution

3x + 2y = 6

43. Draw the graph of equation 

. 

From the graph find 

 the value of x, wheny=3 


(ii) , the value of x, when y=-2

x + 2y − 3 = 0

x1

x2

https://dl.doubtnut.com/l/_JwWQgAQc5qo2
https://dl.doubtnut.com/l/_RCWxvKMFMsuP


Watch Video Solution

44. Draw the graph of equation  


Use the graph drawn to find: 

(i) , the value of y, when x=4 


(ii)  the value of y, when x=0

Watch Video Solution

3x − 4y = 12

y1

y2

45. Draw the graph of equation .

Use the graph drawn to find: 

+ = 1
x

4

y

5

https://dl.doubtnut.com/l/_RCWxvKMFMsuP
https://dl.doubtnut.com/l/_xLU9IKZtTyam
https://dl.doubtnut.com/l/_figQwxwr7aYD


Exercise 26 C

(i)  the value of x, when y=10 


(ii)  the value of y, when x=8

Watch Video Solution

x1

y1

46. Use the graphical method to show that the

straight lines given by the equations

 pass

through the same point.

Watch Video Solution

x + y = 2, x − 2y = 5 and + y = 0
x

3

https://dl.doubtnut.com/l/_figQwxwr7aYD
https://dl.doubtnut.com/l/_bW6z5DcdTJgD


1. In each of the following find the inclination of

line AB: 

Watch Video Solution

https://dl.doubtnut.com/l/_ETV9LVtUwQ04


2. In each of the following find the inclination of

line AB: 

Watch Video Solution

3. In each of the following find the inclination of

line AB: 

https://dl.doubtnut.com/l/_mEdQlsLJXEVJ
https://dl.doubtnut.com/l/_eR07DMupJbxk


Watch Video Solution

4. Write the inclination of a line which is: 

(i) parallel to x-axis.

Watch Video Solution

https://dl.doubtnut.com/l/_eR07DMupJbxk
https://dl.doubtnut.com/l/_jK3I8pchPw45


5. Write the inclination of a line which is: 

perpedicular to x-axis.

Watch Video Solution

6. Write the inclination of a line which is: 

parallel to y-axis

Watch Video Solution

https://dl.doubtnut.com/l/_Dl1zwA7UOrb4
https://dl.doubtnut.com/l/_LF2kHb3sNJgV


7. Write the inclination of a line which is: 

perpendicular to y-axis

Watch Video Solution

8. Write the slope of the line whose inclination

is: 

Watch Video Solution

0∘

https://dl.doubtnut.com/l/_wjK9ymgWCoVF
https://dl.doubtnut.com/l/_D7avYNN8COen


9. Write the slope of the line whose inclination

is: 

Watch Video Solution

30∘

10. Write the slope of the line whose inclination

is: 

Watch Video Solution

45∘

https://dl.doubtnut.com/l/_wwd3RJPnTeWu
https://dl.doubtnut.com/l/_WUXd5lUcFQVY
https://dl.doubtnut.com/l/_7Dw9u8ouaQIl


11. Write the slope of the line whose inclination

is: 

Watch Video Solution

60∘

12. Write the slope of the line whose inclination

is: 

Watch Video Solution

0∘

https://dl.doubtnut.com/l/_7Dw9u8ouaQIl
https://dl.doubtnut.com/l/_Kyujcpq5iJOm


13. Find the inclination of the line whose slope

is: 

Watch Video Solution

1

14. Find the inclination of the line whose slope

is: 

Watch Video Solution

√3

https://dl.doubtnut.com/l/_22aAqB2Gto3N
https://dl.doubtnut.com/l/_cevQMdtJRojS
https://dl.doubtnut.com/l/_KgdZVMMjLrrH


15. Find the inclination of the line whose slope

is: 

Watch Video Solution

1

√3

16. Write the slope of the line which is: 

parallel to x-axis

Watch Video Solution

https://dl.doubtnut.com/l/_KgdZVMMjLrrH
https://dl.doubtnut.com/l/_mMQGetNtrg2N


17. Write the slope of the line which is: 

perpendicular to x-axis

Watch Video Solution

18. Write the inclination of a line which is: 

parallel to y-axis

Watch Video Solution

https://dl.doubtnut.com/l/_qiI448LprJmx
https://dl.doubtnut.com/l/_sQ3x8C4GDv1o


19. Write the slope of the line which is: 

perpendicular to y-axis

Watch Video Solution

20. For each of the following given below, find

th slope and the y-intercept. 

Watch Video Solution

x + 3y + 5 = 0

https://dl.doubtnut.com/l/_TamUmycgLbhZ
https://dl.doubtnut.com/l/_TdWxSuFfzQ0C


21. For each of the following given below, find

th slope and the y-intercept. 

Watch Video Solution

3x − y − 8 = 0

22. For each of the following given below, find

th slope and the y-intercept. 

Watch Video Solution

5x = 4y + 7

https://dl.doubtnut.com/l/_YBHwvRgva8Yw
https://dl.doubtnut.com/l/_ecSSmWtjGHYl
https://dl.doubtnut.com/l/_YSWklePX1ypH


23. For each of the following given below, find

th slope and the y-intercept. 

Watch Video Solution

x = 5y − 4

24. For each of the following given below, find

the slope and the y-intercept. 

Watch Video Solution

y = 7x − 2

https://dl.doubtnut.com/l/_YSWklePX1ypH
https://dl.doubtnut.com/l/_OOb6FKNuo3tg


25. For each of the following given below, find

the slope and the y-intercept. 

Watch Video Solution

3y = 7

26. For each of the following given below, find

the slope and the y-intercept. 

Watch Video Solution

4y + 9 = 0

https://dl.doubtnut.com/l/_WgdQ8aqcFYjo
https://dl.doubtnut.com/l/_0518vhWPgoIf
https://dl.doubtnut.com/l/_tpbCghfG1k28


27. Find the equation of the line whose: 

slope =2 and y-intercept=3

Watch Video Solution

28. Find the equation of the line, whose: 

Slope =5 and y intercept =-8

Watch Video Solution

29. Find the equation of the line, whose: 

Slope =-4 and y intercept =2

https://dl.doubtnut.com/l/_tpbCghfG1k28
https://dl.doubtnut.com/l/_5d9TkHwEJvZZ
https://dl.doubtnut.com/l/_H3Wg1ICOW1PR


Watch Video Solution

30. Find the equation of the line whose: 

slope =-3 and y-intercept =-1

Watch Video Solution

31. Find the equation of the line, whose: 

Slope =0 and y intercept =-5

Watch Video Solution

https://dl.doubtnut.com/l/_H3Wg1ICOW1PR
https://dl.doubtnut.com/l/_vsu38q5LExmi
https://dl.doubtnut.com/l/_zRlIPZxd6MhU
https://dl.doubtnut.com/l/_98ytbODuzdOj


32. Find the equation of the line whose: 

slope =0 and y-intercept =0

Watch Video Solution

33. Draw the line  on a graph

paper. From the graph paper, read the y-

intercept of the line.

Watch Video Solution

3x + 4y = 12

https://dl.doubtnut.com/l/_98ytbODuzdOj
https://dl.doubtnut.com/l/_AGKRHBi9zSHw


Questions

34. Draw the line  on a graph

paper. From the graph paper, read the y-

intercept of the line.

Watch Video Solution

2x − 3y − 18 = 0

35. Draw the graph of line .

Watch Video Solution

x + y = 5

https://dl.doubtnut.com/l/_MedtXWsdKMKo
https://dl.doubtnut.com/l/_CHIqGJfuB0rM
https://dl.doubtnut.com/l/_tqOF9d2ZNx2W


1. Express the equation  in

the form so that: 

(i) x is dependent variable and y is the

independent variable. 

(ii) y is dependent variable and x is independent

variable.

Watch Video Solution

4x − 5y + 20 = 0

2. Find the values of x and y. If 

(i)  


(ii) 

(x, 4) = ( − 7, y)

(x − 3, 6) = (4, x + y)

https://dl.doubtnut.com/l/_tqOF9d2ZNx2W
https://dl.doubtnut.com/l/_rGbXpHKLMMAC


Watch Video Solution

3. Plot the points

.

Watch Video Solution

A(4, 2), B( − 5, 3), C( − 4, − 5) and D(5, − 2)

4. A (3,6), B(3,2) and C(8,2) are the vertices of a

rectangle. Plot these points on a graph paper

and then use it to find the co- ordinates of the

vertex D.

https://dl.doubtnut.com/l/_rGbXpHKLMMAC
https://dl.doubtnut.com/l/_Fm7XuDe5BHOd
https://dl.doubtnut.com/l/_H4w0QPkaesud


Watch Video Solution

5. Find the co-ordinates of the point whose

abscissa is the solution of the first quadrant

and the ordinate is the solution of the second

equation. 

 and 

Watch Video Solution

0.5x − 3 = − 0.25x

8 − 0.2(y + 3) = 3y + 1

https://dl.doubtnut.com/l/_H4w0QPkaesud
https://dl.doubtnut.com/l/_a1P71bUSRoso


6. Draw the graph of each of the following

equations: 

(i)  (ii)  (iii)  (iv) 

Watch Video Solution

y = 3 y + 5 = 0 x = 4

x = 6 = 0

7. Draw th graph of 

Watch Video Solution

y = − 2x

https://dl.doubtnut.com/l/_pcarRo9XtpTq
https://dl.doubtnut.com/l/_ccBz9H0nH656


8. Draw the graph of 

Watch Video Solution

y = 3x − 4

9. Draw the graph of 

Watch Video Solution

y = − 2x +
3

2

10. Draw the graph of the equation

. Use this graph to find: 
3x + 2y − 5 = 0

https://dl.doubtnut.com/l/_FZeKg2kmOV5f
https://dl.doubtnut.com/l/_e3od4aZao8xS
https://dl.doubtnut.com/l/_fkdn6XaXClz8


(i)  the value of x, when y=7 


(ii)  the value of y, when x=3

Watch Video Solution

x1

y1

11. Find the slope and the y-intercept of the

line: 

(i)  (ii)  (iii) 

Watch Video Solution

2x − 3y + 5 = 0 2y + 5x = 7

2y − 5 = 0

https://dl.doubtnut.com/l/_fkdn6XaXClz8
https://dl.doubtnut.com/l/_4F16rARkLYNF


Topic 1 3 Mark Questions

12. Find the equation of a line whose 

(i) slope =-3 and y-intercept =5 (ii) m=8 and c=-6

Watch Video Solution

1. In each of the following find the coordinates

of the point whose abscissa is the solution of

the first equation and ordinate is the solution

of the second equation: 

3 − 2x = 7, 2y + 1 = 10 − 2 y
1

2

https://dl.doubtnut.com/l/_NGMeYBuLJIAH
https://dl.doubtnut.com/l/_ENW5qunXav5A


Watch Video Solution

2. In each of the following find the coordinates

of the point whose abscissa is the solution of

the first equation and ordinate is the solution

of the second equation: 

Watch Video Solution

5x(5 − x) = (3 − x), 4 − 3y =
1

2

4 + y

3

3. In each of the following the co-ordinates of

the three vertices of a rectangle ABCD are

https://dl.doubtnut.com/l/_ENW5qunXav5A
https://dl.doubtnut.com/l/_VWCZ1Y6PyqB4
https://dl.doubtnut.com/l/_3YXJYe5A3KUe


given. By plotting the given points, find, in each

case, the co-ordinates of the fourth vertex: 

A(-4,-6),C(6,0) and D(-4,0)

Watch Video Solution

4. By plotting the following points on the same

graph paper, check whether they are collinear

or not: 

(i) (3,5),(1,1) and (0,-1) 

(ii) (-2,-1),(-1,-4) and (-4,1)

Watch Video Solution

https://dl.doubtnut.com/l/_3YXJYe5A3KUe
https://dl.doubtnut.com/l/_WONugBLDVwrS


5. By plotting the following points on the same

graph paper, check whether they are collinear

or not: 

Watch Video Solution

( − 2, − 1)( − 1, − 4) and ( − 4, 1)

6. Plot the points A (5,-7) from point A, draw AW

perpendicular to X axis and AN perpendicular

to y axis. Write the co-ordinates of points M

and N.

https://dl.doubtnut.com/l/_WONugBLDVwrS
https://dl.doubtnut.com/l/_Zad5MA8irD8f
https://dl.doubtnut.com/l/_DEA2F015anc5


Watch Video Solution

7. Write the slope of the line whose inclination

is: 

Watch Video Solution

0∘

8. Write the slope of the line whose inclination

is: 

Watch Video Solution

30∘

https://dl.doubtnut.com/l/_DEA2F015anc5
https://dl.doubtnut.com/l/_I5uQZC9eLc5T
https://dl.doubtnut.com/l/_oxb7vqhnN4Sb


9. Write the slope of the line whose inclination

is: 

Watch Video Solution

45∘

10. For each of the equations given below, find

the slope and the y intercept. 

Watch Video Solution

x + 3y + 5 = 0

https://dl.doubtnut.com/l/_oxb7vqhnN4Sb
https://dl.doubtnut.com/l/_f1NmfGdKsbcv
https://dl.doubtnut.com/l/_nZ6LrTJ6YWhm


11. For each of the equations given below, find

the slope and the y intercept. 

Watch Video Solution

3x − y − 8 = 0

12. For each of the equations given below, find

the slope and the y intercept. 

Watch Video Solution

4y + 9 = 0

https://dl.doubtnut.com/l/_nZ6LrTJ6YWhm
https://dl.doubtnut.com/l/_R3Jyz00XdJeM
https://dl.doubtnut.com/l/_CVG1W04fMkcL


13. Find the equation of the line, whose: 

Slope =5 and y intercept =-8

Watch Video Solution

14. Find the equation of the line, whose: 

Slope =-4 and y intercept =2

Watch Video Solution

https://dl.doubtnut.com/l/_BrtC4FFRqSJS
https://dl.doubtnut.com/l/_YLU2SdVzyj1a


Topic 1 4 Mark Questions

15. Find the equation of the line, whose: 

Slope =0 and y intercept =-5

Watch Video Solution

1. Use the graph given along side, to find the co

ordinates of the point (s) satisfying the given

conditions: 

(i) The abscissa is 2 (ii) The ordinate is 0 (iii) The

ordinate is 3 (iv) The ordinate is 2 (v) The

https://dl.doubtnut.com/l/_IwwwUOL7AyLQ
https://dl.doubtnut.com/l/_GQoG1gvEecjZ


abscissa is 5 (vi) The abscissa is equal to the

ordinate (vii) The ordinate is half of the

abscissa 

Watch Video Solution

https://dl.doubtnut.com/l/_GQoG1gvEecjZ


2. A (-2,2),B(8,2) and C(4,-4) are the vertices of a

parallelogram ABCD. By plotting the given

points on a graph paper, find the co-ordinates

of the fourth vertex D. 

Also from the same graph, state the co-

ordinates of the mid points of the sides AB and

CD.

Watch Video Solution

3. A (-2,4) , C (4,10) and D (-2,10) are the vertices

of a square ABCD. Use the graphical method to

https://dl.doubtnut.com/l/_0ihnrjD4deWn
https://dl.doubtnut.com/l/_FAjwkuetO0mM


find ordinates of the fourth vertex B. Also, find: 

The co-ordinates of the mid point of BC.

Watch Video Solution

4. A (-2,4) , C (4,10) and D (-2,10) are the vertices

of a square ABCD. Use the graphical method to

find ordinates of the fourth vertex B. Also, find: 

The co ordinates of the mid point of CD.

Watch Video Solution

https://dl.doubtnut.com/l/_FAjwkuetO0mM
https://dl.doubtnut.com/l/_1Limcl9YQQrG


5. A (-2,4) , C (4,10) and D (-2,10) are the vertices

of a square ABCD. Use the graphical method to

find ordinates of the fourth vertex B. Also, find: 

The co ordinates of the point of intersection of

the diagonals of the square ABCD.

Watch Video Solution

6. Draw the graph for 

Also find the co ordinates of the points where

the graph line) drawn meets the co-ordinate

axes.

− = 0
2x − 1

3

y − 2

5

https://dl.doubtnut.com/l/_S10VKrrYmgM6
https://dl.doubtnut.com/l/_DfgohMJ0IW3n


Watch Video Solution

7. On the same graph paper, plot the graphs of

 from x=-2

to x=4 Are the graph (lines) drawn parallel to

each other?

Watch Video Solution

y = 2x − 1, y = 2x and y = 2x + 1

8. The graph of 3x+2y=6 meet the x axis at point

P and the y axis at point Q. Use the graphical

https://dl.doubtnut.com/l/_DfgohMJ0IW3n
https://dl.doubtnut.com/l/_iw6Z1Ridp8Hn
https://dl.doubtnut.com/l/_L4IhmmwW3try


Topic 2 3 Mark Questions

method to find the co-ordinates of the points P

and Q.

Watch Video Solution

9. Use the graphical method to show that the

straight lines given by the equations

 pass

through the same point.

Watch Video Solution

x + y = 2, x − 2y = 5 and + y = 0
x

3

https://dl.doubtnut.com/l/_L4IhmmwW3try
https://dl.doubtnut.com/l/_HsFn0kwS96gz


1. Draw the graph for each equation given

below: 

x=5

Watch Video Solution

2. Draw the graph for each equation given

below: 

Watch Video Solution

y + 7 = 0

https://dl.doubtnut.com/l/_caA86G4W1bA1
https://dl.doubtnut.com/l/_f152ZJm4airV


3. Draw the graph for each equation given

below: 

Watch Video Solution

2x + 3y = 0

4. Draw the graph of the equation 

 


From the graph find 

(i)  the value of y, when x=12 


(ii)  the value of y, when x=-6

Watch Video Solution

4x + 3y + 6 = 0

y1

y2

https://dl.doubtnut.com/l/_MdkvqppiFHO1
https://dl.doubtnut.com/l/_NztNBsMs7mKa


Watch Video Solution

5. Draw the graph of the equation 

 


From the graph find 

(i)  the value of y, when x=12 


(ii)  the value of y, when x=-6

Watch Video Solution

4x + 3y + 6 = 0

y1

y2

6. Draw the graph obtained from the table

below: 

https://dl.doubtnut.com/l/_NztNBsMs7mKa
https://dl.doubtnut.com/l/_tMI7A8VDUb9t
https://dl.doubtnut.com/l/_VWhnylQ5WxHc


 


Use the graph to find the value of a,b and c.

State a linear relation between the variables x

and y.

Watch Video Solution

7. A straight line passes through the points

(2,4) and (5,-2).Taking 1 cm=1 unit, mark these

points on a graph paper and draw the straight

line through these points. If points (m,-4) and

https://dl.doubtnut.com/l/_VWhnylQ5WxHc
https://dl.doubtnut.com/l/_xRmLE3JiNsAB


Topic 2 4 Mark Questions

(3,n) lie on the line drawn, find the values of m

and n.

Watch Video Solution

8. Use the graphical method to find the value of

x for which the expressions

 are equal.

Watch Video Solution

and − 2
3x + 2

2

3x

4

https://dl.doubtnut.com/l/_xRmLE3JiNsAB
https://dl.doubtnut.com/l/_RUQlHJgxY5m7
https://dl.doubtnut.com/l/_bUaj8AippSYL


1. Draw the graph of the straight line given by

the equation  


Calculate the area of the triangle formed by the

lines drawn and the co-ordinate axes.

Watch Video Solution

4x − 3y + 36 = 0

2. Use graph paper for this equation. Take

2cm=1 unit the both the axes. 

Draw the graph of x+y+3=0 and 3x-2y+4=0. Plot

only three points per line.

Watch Video Solution

https://dl.doubtnut.com/l/_bUaj8AippSYL
https://dl.doubtnut.com/l/_4BhAWCYU576D


3. The area of a circle is 154 . Its diameter is

A. 7 cm

B. 14 cm

C. 21 cm

D. 28 cm

Answer: (-2,-1)

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_4BhAWCYU576D
https://dl.doubtnut.com/l/_rkL8YSttyJeS
https://dl.doubtnut.com/l/_Ntgj713OTSSZ


4. A plane is observed to be approaching the

airport. It is at a distance of 12 km from the

point of observation and makes an angle of

elevation of 60°. Find the height above the

ground of the plane.

View Text Solution

5. The sides of a triangle are given by the

equation 

y − 2 = 0, y + 1 = 3(x − 2) and x + 2y = 0

https://dl.doubtnut.com/l/_Ntgj713OTSSZ
https://dl.doubtnut.com/l/_rEzClG1gVhZA


Find, graphically: 

The area of a triangle

Watch Video Solution

6. The sides of a triangle are given by the

equation 

Find, graphically: 

The area of a triangle

Watch Video Solution

y − 2 = 0, y + 1 = 3(x − 2) and x + 2y = 0

https://dl.doubtnut.com/l/_rEzClG1gVhZA
https://dl.doubtnut.com/l/_xPWfgGpV2i2B
https://dl.doubtnut.com/l/_R7A7Fp2qKdFn


7. By drawing a graph for each of the equations

on the same graph paper. Show that the lines

given by these equations are concurrent (i.e.,

they pass through the same point). Take 2cm=1

unit the both the axes.

Watch Video Solution

3x + y + 5 = 0, 3y − x = 5 and 2x + 5y = 1

8. Using a scale of 1cm to 1unit for both the

axes Draw the graph of the following equations

:  From the graph6y = 5x + 10, y = 5x − 15

https://dl.doubtnut.com/l/_R7A7Fp2qKdFn
https://dl.doubtnut.com/l/_P9ebFLTFvesO


find: 

The co-ordinates of the points where the two

lines intersect.

Watch Video Solution

9. Using the scale of 1 cm to 1 unit for both the

axes, draw the graphs of the following

equations: .


From the graph find 

(i) the co-ordinates of the point where the two

lines intersect, 

6y = 5x + 10, y = 5x − 15

https://dl.doubtnut.com/l/_P9ebFLTFvesO
https://dl.doubtnut.com/l/_vtrMY3yApkPI


(ii) the area of the triangle betwee the lines and

the x-axis.

Watch Video Solution

10. Solve graphically the following system of

linear equations (use graph sheet) 

 


 


Also , find the area of the triangle formed by

these two lines and the y-axis.

Watch Video Solution

x − 3y = 3

2x + 3y = 6

https://dl.doubtnut.com/l/_vtrMY3yApkPI
https://dl.doubtnut.com/l/_yq54ZystIWkp


Topic 3 3 Mark Questions

11. Use graph paper for this equation. Draw the

graph of  on the

same axes. Use 2cm =1 unit on the both the

axes and plot only 2 points per line. Write down

the co-ordinates of the point of intersection of

the two lines. Also find the area of the triangle

formed by the lines and the y-axis.

Watch Video Solution

3x − 2y = 5 and 2x = 3y

https://dl.doubtnut.com/l/_yq54ZystIWkp
https://dl.doubtnut.com/l/_sMR5IssZnGTo
https://dl.doubtnut.com/l/_8TRIj7LI4x12


1. Find the co-ordinates of the points on the y-

axis, which are at a distance of 10 units from

the point (-8, 4)

Watch Video Solution

2. A point A is at a distance of  unit from

the point (4,3). Find the co-ordinates of the

point A, if its ordinate is twice its abscissa.

Watch Video Solution

√10

https://dl.doubtnut.com/l/_8TRIj7LI4x12
https://dl.doubtnut.com/l/_UyKMpSRYtqNE


3. What point on the x-axis is equidistant from

the points (7,6) and (-3,4)?

Watch Video Solution

4. The vertices of a triangle are (5,1), (11,1) and

(11,9). Find the co-ordinates of the circumcentre

of the triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_qhqBooJzgnfC
https://dl.doubtnut.com/l/_Tk1ouRfHypCk


5. The centre of a circle is (2x - 1, 3x + 1). Find x if

the circle passes through (-3, 1) and the length

of diameter is 20 unit.

Watch Video Solution

6. The distance of point P(x, y) from the points

A(1, -3) and B(-2, 2) are in the ratio 2 : 3. Show

that 

.

Watch Video Solution

5x2 + 5y2 − 34x + 70y + 58 = 0

https://dl.doubtnut.com/l/_VsL7kJGqvOrr
https://dl.doubtnut.com/l/_eGf9A5x8bCKG


7. Find the co-ordinates of the points on y axis

which are at a distance of  units from the

point (5,8)

Watch Video Solution

5√2

8. A is a point on the x-axis and B is (-7, 9).

Distance between the points A and B is 15 units.

Find the coordinates of point A.

Watch Video Solution

https://dl.doubtnut.com/l/_EerUvUvMMtfa
https://dl.doubtnut.com/l/_bDiiOSan79WI
https://dl.doubtnut.com/l/_qufXs58NQCJn


Topic 3 4 Mark Questions

9. Given three points P(-1, 2), A(2, k) and B(k, -1).

Given that PA = PB. Find the value of k.

Watch Video Solution

1. A point P lies on x-axis and another point Q

lies on y-axis. 

Write the ordinate of the point P.

Watch Video Solution

https://dl.doubtnut.com/l/_qufXs58NQCJn
https://dl.doubtnut.com/l/_ZUguqX6dOAsV
https://dl.doubtnut.com/l/_2zvwwodrVvID


2. A point P lies on x-axis and another point Q

lies on y-axis. 

Write the abscissa of the point Q.

Watch Video Solution

3. A point P lies on x-axis and another point Q

lies on y-axis. 

If the abscissa of the point P is -12 and the

ordinate of the point Q is -16, calculate the

length of the segment PQ.

Watch Video Solution

https://dl.doubtnut.com/l/_2zvwwodrVvID
https://dl.doubtnut.com/l/_wyMaGdGXAwaI


4. Prove that the points P (0,-4), Q(6,2) R(3,5)

and S (-3, -1) are the vertices of a rectangularj

PQRS.

Watch Video Solution

5. Prove that the points A (1,-3) B (-3,0) and

C(4,1) are the vertices of an isosceles right

angle triangle. Find the area of the triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_wyMaGdGXAwaI
https://dl.doubtnut.com/l/_hpS17ArfPoHB
https://dl.doubtnut.com/l/_y7CV1iLcTGQf


6. Show that the points A (5,6) B (1,5) and C (2,1)

and D (6,2) are the vertices of a square ABCD.

Watch Video Solution

7. Point P (2,-7) is the centre of a circle with

radius 13 units, PT is perpendicular to chord AB

and T= (-2,-4). Calculate the length 

AT

Watch Video Solution

https://dl.doubtnut.com/l/_y7CV1iLcTGQf
https://dl.doubtnut.com/l/_gcbhJweHNA8r
https://dl.doubtnut.com/l/_hImr2TTNg3Wg


8. Point P (2,-7) is the centre of a circle with

radius 13 units, PT is perpendicular to chord AB

and T= (-2,-4). Calculate the length 

AT

Watch Video Solution

https://dl.doubtnut.com/l/_T13PULYeKCsZ

